DISCUSSION HANDS Tm-
i

& KJxxx
0 Kx

O Kxxx
& Jx

¢ Axx
Q JxxX
¢ AXX
& Kxx

Using NMF, the bidding goes:

18-14 V‘. W
1NT-20
24-34 a&u’
le-1$
Wr-2C
-
v



#2 — examples for 20 ga{ﬁe force R A

& KJTxx © QXXOAJXQ Qx A &

The bidding has been 1&-14, 1INT—

o« What TYPE of hand do | have?

o game force?

o invitational?

o part-score?

« What PATH do | take?

o 20 game force (or, rarely, jump)
o 2% invitation

o 20, 24, or 3% signoff (or 2&-->20)

& AJTXxX O KTxx ¢ AXX & X

 2p-thanlistontor majers

o AQTXx © KQx ¢ x & KJxxXx

2D - then 3C

o AJXx © QTx ¢ KJxx & Qx

2T~ 1o wosen -to -ﬂfhrc




#3 - examples of responding to 20 GF
The bidding has been 1%-10, 1NT-20 --

& KJX O Kxx 0 JX & AJIOxXx

2R

& KIxx O Jx ¢ AJx & KTxx

2%

¢ QJ9x © Qxx ¢ :(Qx ® ATXx
2R = liskanFor 26 by pariver

e Ax © Qx ¢ AT9xx & QJIxx . o
- 3C = nay be Slams in & PUIMY

¢ Kx O Txx 0 AQJ9x & Kxx




#4 — examples of 2# invitation
The bidding has been 10-14, 1NT—

o KQTxXx © Jxx 0 Qx & Kxx
2C = then 207
e Type? ( . o" ”
e Path? .*I l 6 I) f
& KJOxx O Jx 0 QIxx  Kx

. 2C - Alen. %9 (M

€@ XX O X ”* X

& Kng(xc@-Qng?A; ®
2C - thon ZH (impl

o AQTIOXX O x O xx & KTxx )

2¢ - thon 35 (&
2¢ ~then 3N (@b o€

& AJIxX O KQxxx ¢ JX & X



#5 - examples of stopping in 20
The bidding has been 10-14, 1NT -

& QTxx O x ¢ QIxx & Kxxx '
2C - then puss 2D,

The bidding has been 1&-10, 1NT -

& J O KTxx 0 QTxxXXX & XX l

u’mm Zbo



#6 — what to do after an invitation

The bidding has been -
10-14
1NT-24
20-24

& Axx O Jxxx O Axx & Kxx

Pats - minimamm
o QX O JJTxx 0 KQTxx &

Pass -~ : '?‘C"". 20‘\'.

o XX O AJxx 0 KQxx & Kxx

Puss - doit Hleeds 201!

o Ixx O Kxx 0 ATxx -'- Axx

Psss - minimam

& Qxx O Axx ¢ AJxx & Kxx

46 - Fet Mth

o QO Axx 0 ATxxx & QTxx

o Kx O QTxx ¢ ATxx & AxXx

2T -

o Qx O KJxx ¢ KQxx & Kxx 1

oY - mw%




#7 - examples of jump rebids (rare)

The bidding has been 10-14, 1NT -

& KQJTxx O Agx ¢ Ax ¢ Kx ' ﬁ
ss @ e 4‘»“
o AKXX O x ¢ KJxxx 53 Kxx %”d’ “

3D~ -‘nam Areet
)gv ):- Qxxx ‘ Mwl

o AQTxx © KQ9xx O Ax & X “

2R ~ Jov
“3’ *;jsﬂ:::",




#8 — bidding problem

¢ AT954
© A9862
O 84

& 6

Partner opens 10, you respond 14, and she
rebids 1NT.

What do you do now?

® Typ9? m*‘
. Path? 2€ » PO 2




The full hands are:

¢ AT954
© A9862
O 84

* 6

s K7

© KT74
o AK63
» J84

10-14
INT-24#
20-290
49



#9 - bidding problem

» KQT75
OT

0 AKJ92
& AJ

Partner opens 1%, you respond 14, and he
rebids 1NT.

What do you do now?

. Type? Gams Jovee

 Path? Juur chiwt

- gh.n
e




The full hands are:

+ KQT75
T

0 AKJ92
* AJ

s A4

© J863
0 QTS5
» KQ96

1%-14
1NT-30
40-4NT
50*-6¢

*0314



